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2(9x3 + 6x2) + 7 = 3x° + Tx

X —Tx+ 3(5x3 + 4x2) + 453

Xx— 8% — 3(5x3 — 2x3) — 8x?

x+ 6x—6x3 +x+2x2

30 + 9% — 3(2¢° — 3x%) — 8

Aics:

2(3x— 6x2) +x— 3x— 8x°

Ox® — 2x% — 2(6x° + 9x) — 2x°

x—6x2+3(2x3+x)+9x

3

Sx+3x° +5¢° + 9x —x

X =5 —3x— 7 — 8
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2(9x° + 6x2) + 76 =3 + Tx
2x° + 126 + Ix

X = T+ 3050 + 4x%) + 4x®
195> + 132 — 7x

x— 8 —3(5x° — 2x3)— 8x?
—17x° — 8% +x

x+ 6x— 6 + x+ 2x?
—60° + 202 + 8x

3+ 9% =32 — 3%%) — 8«
6x° + 9 — 8x

HIZh:

2(3x — 6x%) +x— 3x — 8x°
—20x% + 4x

0% — 2% = 2(6x° + ) — 2
—32x° + 7x?

x— 6x% + 32 + x)+ 9%
6x° — 6x° + 13x

Sx+ 3 +5¢ + 9x—x°
7% + 14x

¥ =52 —3x—Tx — 8
—6x° — 5¢ — 11x
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